| Efficiency vs Dxy |

> 0.2
5
n 0.18
>
$0.16
o
'50.14

=

0.12
0.1
0.08
0.06
0.04
0.02

Ratio

..................................

o

.....................................................................

12

510 15 20
TP dxy (cm)

iency vs dz
o
N
a1

effic

Ratio

0.5

o
~

0.35

o
w

0.25
0.2
0.15
0.1
0.05

—=— DQM_CKFFit_1000evt
—«— DOM_CKFREFit_1000evt
—+«— DQM_MKFitREFit_1000evt
—+ DQM_TESTOLHIT_POS

...................

...............................................

I 11 1 1 11 1 1 I 11 1_1 I 1 1 1 +| I 1 11 1 11 1 1
r 1+ H +

E : LE

SRR TEEEETEEE -1 1- B B R L E T
o 1

I Sl T 18 O Y O

i am

30
TP dz (cm)




	Contents
	Page 1


